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Traditions - 1

1 - 6. sorularda asagidaki pargcada numaralandiriimis
yerlere uygun diisen s6zciik veya ifadeyi isaretleyiniz.

School has changed since | was a student. We (1) - - - -
school uniform and | didn’t like that very much. We (2)
- - - - a lot of lessons and most of them were difficult. We

(3) - - - - homework every day. We (4) - - - - lots of books
and we (5) - - - - everything by heart. And our teachers
(6) - - - - us a lot of tests and examinations. Some of them

were impossible! | think school is easier now than it was
50 years ago.

A) used to learn
B) didn’t use to do
C) used to wear
D) didn’t use to go
)

E) used to tailor

A) used to study

B) use to read

C) didn’t use to go

D)
)

E

used not to do

used to buy

used to listen
used to write
used to smell
used to do

used to dress
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10. Sinif
Ingilizce

A) used to listen
B) used to read
C) used to play
D) used to help

E) used to travel

A) used to take
B) used to forget
C) used to come
D) used to use

E) used tolearn

A) didn’t use to ask
B) didn’t use to see
C) used to give

D) used to dress

E) used to wear

http://odsgm.meb.gov.tr/kurslar/
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7 - 9. sorulari asagida verilen gorsele gore cevap-
layiniz.

10 - 12. sorulan asagida verilen gorsele gore cevap-
layiniz.

PAST

TODAY

7. He usedto ----in the past.
A) have short hair
B) wear glasses
C) has along beard
D) didn’t use have hair

E) didn’t use to wear a tie

8. He wears glasses today but - - - -.
A) he used to wear a cap in the past
B) he didn’t use to wear them
C) he used to have sun-glasses
D) he didn’t use to be an actor

E) he used to wear big shoes

9. He ----amustache but today he has a beard.
A) didn’t use to be
B) used not to do
C) didn’t used to comb
D) used to wear

E) did use to cut
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PAST

TODAY

10. He used to run fast but - - - -,
A) he can play football today
B) he didn’t used to play football today
C) he can’t walk today
D) he can walk six hours a day

E) he plays footbal now

-
—

. He - - - - football but he can’t today.
A) didn’t use to go
B) did use to do
C) used not to kick
D) used to use

E) used to play

12. He - - - - help to go somewhere but today he uses a

wheelchair.

A) didn’'t use to need
B) used to have

C) did use to be

D) used not to give

E) used to ask

Cevap anahtarina ulagsmak icin karekodu okutunuz.
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